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Maple example with implicit functions in 3-d and spacecurves together.

w i t h ( p l o t s ) :
i m p l i c i t p l o t 3 d ( { x ^ 2 + y ^ 2 - z ^ 2 = 0 ,  y = x ^ 2 } ,  x = - 3 . . 3 , y = - 3 . . 3 , z = - 3 . . 3 ,  
g r i d = [ 2 5 , 2 5 , 2 5 ] ) ;

spacecurve ( [sqr t (y ) ,  y ,  sqr t (y^2+y ) ] , y= -3 . . 3 ,co lo r= red , th ickness=
3 ) ;
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#  P lo t t ing  them toge ther :
A : = i m p l i c i t p l o t 3 d ( { x ^ 2 + y ^ 2 - z ^ 2 = 0 ,  y = x ^ 2 } ,  x = - 3 . . 3 , y = - 3 . . 3 , z = - 3 .
. 3 ,  g r i d = [ 2 5 , 2 5 , 2 5 ] , s t y l e = w i r e f r a m e ) :
B:=s p a c e c u r v e ( [ s q r t ( y ) ,  y ,  s q r t ( y ^ 2 + y ) ] , y = - 3 . . 3 , c o l o r = r e d ,
th ickness=3) :

d isplay3d(A,B) ;




